EARAROBREBRT —5 XN—ZXBISH—F

2024528278 (X)) 18EIAH?2H

/R S

C1—==[

BRI

[AE%] 17%&:1,200,000 § ~ 237&:480,000 @ . 37&:300,000H  435:180,000 @ . 5 3&:120,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
) ) o6 | KEEZ 1:45.3 2-2-1-1 | 40.9| - 1 506 | KYEHRZ (k)
118113 a4 /Y5y 56.0 (=) “2) EHEEE (%)
A :Ghostzapper &:/\ILY Bonne Chance Farm
= 4 5 | BREK 1:46.0 7-7-9-8 | 40.9| - 7 | 532 |ETEME (1)
2|5/ 8 =SF—JTAR %53.0 G1/2) Gy | EeAm
RiFAUAYRA NUA Y B A—PAF oA A INANRAT7—L
= [FEESEEE] 146. -10-10- . - HEFE (1))
3 3 7WLTUS # 7 | B 1(74?:? 9-10-10-10 | 40.6 6 (5_415) iﬂ%%ic
RIARI—=ILYF— B:ZTXSAb hE K
“— o BHZE : -1-1- - HinEe (KH)
45|77V IF YT "5 B A B P
RNV Y=L §:05yTATN—h #HET7—L
_ s 4 | BARE 1:46.5 4-4-5-4 | 41.8| — 5 | 464 |HEFEE (CKH)
5 ) | 1—EF% 54.0 %) (+g) | LRI
R:5= H:EYUPwI KIFEBHUS
S SR 4 o4 | BB 1:46.7 11-11-8-8 | 41.6 | — 10 | 472 | FRERESL (UvER)
6171111 3¥ /035D 56.0 (3/4) (1) |EKER
R~/ 050Y B:TIT7LF« RER 45
S R S 45 | I 1:46.9 8-8-6-6 | 42.4| — 4 520 | f@KE ()
71814 73 v ROAILE 56.0 ) (6) | KIBE—
RiFAIXTv— B:5T—L #BT7—L
W —= f 5 | SteiET 1:47.6 10-9-11-11 | 41.8 | — 9 | 498 |IfEE (KH)
8 4 >Fwvooo—3> 54.0 (31/2) () | AMERRE
RE-UR B:7IYT0-3 "HBT7—LI
. P ERE 147. -3-4- . - Ess (KH)
9 9| NA—7 v 9| BER 1(14/72)7 3-3-4-4 | 43.2 1 (4_8:) T
RiFvInA4O— B:HILI7 R—=)b (/) #B81—-RL—yavEEI7
, H o5 | EilE 1:47.7 6-6-3-3 | 43.2| — 8 | 462 |BRA—R (k)
1017112/ 7 /U330~ 5.0 \F) © |PI=E
RO—IRAIUAA B:HT/A(FRT EERMS
» ) 5 | SHE 1:48.3 5-5-7-7 | 43.3| — 2 511 | WEeE (KH)
1111 | EXLIDH 56.0 3) (6 |BREHER
R:STU—=F1 B:N—-L—~vyX #at BEERES
o__ *~ 4t 9 | #EI|FHHE 1:48.4 13-13-12-12| 42.0 | - 12 a6 | HE3hZ (KFH)
1200 ¢ | E—RTILI VR 5.0 (/2 (5 |dosE=
R:O—IRAUAXA BIRANARRI— bld_tTe]
» REKE 149. -12-13- . - ZIREIEZ (KH)
3 5| IRETEN B9 R 1 ?59) 4 |12-12-13-13| 42.7 13 zzg? aEmE
RFVYYH/FEE BOREFYROAS EwIlLyRT7—L
o o, — [EEE - - - - - — | EEE (K
310 NYE=ZANALSIL 5 §4_0"g @) ) gmge osh
RiUFAVF4—R BANASIWATY S (/) #HB8I1-RL—yavEEI 7
@ 11— —BRIEfI
13—7F— 7,13,9,2,1,12,8,14,3,4,11,5,6
20— — 7,13,9,2,1,12,8,14,4,3,11,5,6
IT=5r= (7,13),12,9,2,14,1,11,8,3,4,6,5
40—F— 13,7,12,(2,9) ,14,1, (8,11) ,3,4,6,5
0 ILRE
BB 13 320 JA R 8-13 910M & 5-8 430 3ER 3-8-13 6,960
B B 13 140 3-13 650/ B 8-5 9304 3Es 13-8-3 37,4004
8 350 3-8 1,640 5 & 8-13 3,220
3 290M =51 13-8 5,750H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




